Convertir Sistemas Numéricos (F)

Escriba cada respuesta en la base numérica indicada.

Octal = 2
Hexadecimal =

Octal = 1456
Hexadecimal =

Octal = 212
Hexadecimal =

Octal = 1620
Hexadecimal =

Octal = 17160
Hexadecimal =

2.

10.

Octal = 37
Hexadecimal =

Octal = 673
Hexadecimal =

Octal = 1331
Hexadecimal =

Octal = 630
Hexadecimal =

Octal = 13205
Hexadecimal =
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Convertir Sistemas Numéricos (F) Respuestas

Escriba cada respuesta en la base numérica indicada.

Octal = 2 2.
Hexadecimal = 2

4.
Octal = 1456
Hexadecimal = 32K

6.
Octal = 212
Hexadecimal = 8A
Octal = 1620 8.
Hexadecimal = 390

10.

Octal = 17160
Hexadecimal = 1E70

Octal = 37
Hexadecimal = 1F

Octal = 673
Hexadecimal = 1BB

Octal = 1331
Hexadecimal = 2D9

Octal = 630
Hexadecimal = 198

Octal = 13205
Hexadecimal = 1685
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